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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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P3-4

BfiE) | EBEETIC (FD) | EB=E (BAH/HK) | XK ERF

07:20 200 130.0 & FiHA@07:20 (KRHE{ERESE)
08:10 200 130.0 5 FnHBe08:10 (KRF{ERLEE)
09:00 200 130.0 & Fn#e09:00 (FKFERES)
09:50 200 130.0 5 FiHAe09:50 (KRF{ERLEE)
10:40 200 130.0 & FiHA@10:40 (REAfERE)
11:35 200 130.0 & FiHAe11:35 (REAERZ)
12:35 200 130.0 5 FilRe12:35 (GRAERHE)
13:40 200 130.0 & FiHfe13:40 (KRE1EEE)
14:55 200 130.0 & FnHfe14:55 (REERSS)
23t 1800.0 (9)%) 1170.0 3 WHKEC: 2000.0, PH: 6.5

unusual large postFgEt from yesterday (588), set to 390.0 ml.
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P3-4

BjiE) | BRI (F)) | EHME (BAH/K) | XS ERE

06:15 200 120.0 E BRi&e06:15 Fzh (RAEREE)
07:05 200 120.0 5| {Ri%@07:05 Fzh (FAERSE)
07:55 200 120.0 = {RRiB@07:55 Fzh (RFAEEE)
09:05 200 120.0 5| {Ri%@09:05 F3h (KRAERSE)
10:15 200 120.0 El BRi&e10:15 Fzh CGRAEREE)
11:20 200 120.0 =l Rige11:20 F31 (REAERSE)
12:20 200 120.0 El BRige12:20 Fzh CGRAERESE)
13:10 200 120.0 E| {Rig013:10 Fzh (GREERSE)
13:55 200 120.0 F BRi%e13:55 Fa1 CGRAERESE)
14:40 200 120.0 S {Rig014:40 F3 (RAERSE)
15:35 200 120.0 5| {Ri%e15:35 F3 (RAERSE)
16:45 200 120.0 5| 1RiR@16:45 Fz (REAEES)
24t 2400.0 (12%) 1440.0 3ZHKEC: 1900.0, PH: 6.5

RE R B RECHIR TR K.
RER BB HREC/PHIEER K, FIRERIMIRELR SR
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BYE) | GEBERTIC (B)) | EBE (BEAH/#K) | XS R

03:50 140 120.0 FA| {Ri%@03:50 Fz (RKAMEEE)
04:50 140 120.0 BH| 1{Ri%@04:50 Fzfi (KAEHKE)
08:40 140 120.0 FE| 1RRi%@08:40 Fz (FRFAIERESE)
10:30 140 120.0 FH| 1RRi&@10:30 F31 (RFAERKSE)
2it| 560.0 (4%) 480. 0 32053KEC: 2000.0, PH: 6.5

EORFERRRTC (140) 5708A (185. 0) A%, A REH T % AREERS %2 X ER
ZRIANKPRIEBLO1.0 ml.

RE R i3k [B] RECEIB Hh ok
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P3-4_0, Day=23 (2025-04-21)
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P3-4

BfiE) | BRI (D) | EE (EH/AR) | XK R

07:10 140 110.0 (& =| 1BRiB@07:10 Fzh (KEEREE)
08:05 140 110.0 | =| 1Ri%e08:05 Fzh (KPBIEREEE)
09:00 140 110.0 FA| {Ri%@09:00 Fzi (KAMEEE)
09:55 140 110.0 FA| 1BRi&@09:55 F3h (FKAIEREEE)
10:55 140 110.0 FH| 1BRi&@10:55 Fzh (GRAEREE)
11:50 140 110.0 FH| 1Ri&@11:50 F31 (REAERSE)
12:55 140 110.0 FA| 1BRi&@12:55 F3zh (KRAERESE)
14:15 140 110.0 FA| 1Bi&@14:15 F5h (KRAHERESE)
23t]1120.0 (8%) 880. 0 3203 KEC: 2000.0, PH: 6.5

EREBRTC (140) 5F08A (169. 0) R, FIREM T % WEIEIRS X XER

ZRIANKPRIEBLO1.0 ml.
RE R i3k [B] RECEIB Hh ok
BE R E B HEREC/PH{E SRS, 7T

INA=A
BEFS

MR ELR R
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